i'l.lﬁlru('lt'll“. Prol. Abbas Al-Refaie
—ourse: Cost Accounting (Exam 20 %)

Statement | Correction

= = T o IR » - = ERTITS TR = FAL‘—:‘"E /[d

e The number ol setups is 1,I|. “‘*I_J.-‘L’J:ZF_'L of setup activities and costs.

e |he 11'.1~|t|;, cost ol a uhuinﬁv that is unchanged for a year regardless of the number

umh ol m(u\utl prmlu( ed on the machine is a fixed cost.

e (osts of material uvsed to produce a gquantity of products are always variable and mre nl
costs. FaAL=Z _ LT 4 L
e s . rer = ——F FALSE. [ Me \':"1’\‘.14"1'.1'!_"'..'{\'\'_
¥ Proight-in costs in the merchandising sector are period costs. SR T W'?‘t'

- “TRUE
g \-’n‘l lli[}
{1y

w0 |
WSS Seatsr Rl VI I

Factors affecting the classification of a cost_as fixéd ol variable include, the7|/fves

materiality of the cost in question. FALSZ il i % sl«\r.'i\u el

e Distribution costs in Lhe |n.--1ml"u'uu'||1g seclor are 1.”-“-.{1 COSLS. .o_,/'f‘ Tt
G

e The |1t|l11]lt" ol vehicles assenbled is_a cost driver of '\luHHh wheels on a motor-vehicle

assembly line. D . ~ N i / AU,

S ,"',
es incur opé 1rwvnlt1!1rl1‘1“ COSL, Ffld_‘) — | M f

o Service compitii

e The traced costs of mater jals used and I111I‘|I1H1H}‘ costs are the runn]kqun costs when the
__cost driver is the quantity produced. FALSE —f“fffrm&
. huph)ym- overtime p plomium in the service industry 1s an overhedd cost EALSC —
. —_— ————— : S& . _—1Pelied
e Traced design costs ol o spe el [!ruclm'! Lo support revenues are direct costs s Rl
i) LS P - —CA XA o~ I A=
e “t[!fll larion COSLS On Mmixing m.uhlrnw that (]nrn.‘n- with units of mult ||’]‘ ulH;mt e -
- - y - MDEAGCT
11‘!:1‘:'1 manufacturing and var iable costs. FALS: = ik
" S e M e \.,(

generally accepted accounting princ 1!:th'

x y \lnlrhlh(‘ln/.!l -Itttlllllllllb is constrained by ;
. _— — r‘ﬂcﬁ.. IL"_.‘.’[/'JA,)‘J.:;’\

[hee computer scientists working on the next generat lon of minicomputers are the I'unr' o b
YR — < - e )
A ofdesin-of produets M PIOSRAR: f AC-S SRR R D
Iuvvnlmm:lt- costs are all ms‘lw‘ a product that are expep€es in the balan heet taaxad
= gidiite Snetl WS QAN G
when they are incurred. EALSS B A 2 ; ;
¥ Lk ’ —— -
Flectricity used to muwdu lighting tor Star Market” s store aisles T — 2
: 2 04 cost .
aerchandi sing compariy. —_— /ul a ™
.', " A -
o - S
>

| &






e N !
» % e dich
?3 (12 B 15 miny The costs (million $) incurred to produce 5,000 units in a metal-wood manufacturing industry which |
egan production and sale

S operations on January |, 2024, are as follows (V: stands for variable; F: stands for fixed):
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